ohg 3 ol B

"El:" =l l, m O] A
9lth. ADBC = 20cm? 0|2, A M & BC
o] =X uf, AABM 2] Yo|E L5to]at,
m B # M f C

> = cm”®

> mg 10 cm?

AABM 9] @32 Fol aDBC 9 BH9| hole| Lojmz

Hol= _ol.

. AABM = 10 (cm?)




®10:18 # 8:130|E&
H BC ¢} DE 7} ¥ 3)stA] &=t}




th-S 19 9] AABC oAl Al O
D,E,F g1 o o, ADEF 9] &9
“Fotoiat,

E = 5 B=2(cm),

- 1——

F=-BC=3(cm),
2

- 11—

.. (ADEF 9] E¢|9] Zo])=2+3 + 3 = 8(cm)




—g—.z% |4 AD //BCol1, A E,F= 7}
7 _4 Z7oltt, AD = 8cm©]1,
BC = 14cm ¥ o, EF ¢ Zo]& oo},

~~-l4cm--"~

EF (8+14) =11(cm)




HR2 7 b 29

=
=

Apge) 3ol

%

bz

o0&

5.

oA

o




e 13 22 FYPARY ABCD oA _-T+3-__ ]

(A:/B=3:1% ], AZtE ABCD 9 _, 5/

9] dolet ,C o] A7]&= (
B~~94+41-7C

@ 12,120° @ 12,135° ® 16, 120°

@16, 135° ® 18, 135°

~&B ~

x+3=2x+1..x=2
(BRG] 49 Bo))= 16

Tt /A + /B =180° /A = 180° x Z =135°

/A = /Co|B2 /C =135° o]t}




B

SHAITEES B2 ] 2717 22 AdEEelo.

© AtH=lEelt.

@ ArhE|Eolete 270] Yt 917 et

©® T izt o] Zdol7t 77 ¢ro B g SHAltte|Eo] ofrh,




ohg 12 AD = /A 9] 0|52 A0]
tt. AB =12cm ,AC =4cm ,BC =
10cm € wj, BD 9] Zo]=?

10

@ 3cm @ 5 om ® 5cm
15

@ Tcm ® - om

~&B

12:4=x:(10-x) °|B2 x = 3(10 - x)
x=30-3x
4x = 30




9. aABC oA cA 9 o241 ¥ BC o] W& D = € 1, AABD
9] ¥o]7} 88cm? ©]H, AADC 9] Yol & F5toiz},

i
o
=

>
> ®EH 72cem?

B ,

AB :AC = BD :DC 0|22

BD:DC=11:9

wt2ta] AABD ©F AADC 9] Ho]9] Hl&= 11: 9 o[t}
11:9=288:AADC .. AADC = 72(cm?)




10. ot J=NA 1/ m//nd o, x o] gh2?

7~

X

@15 @145 O 12 ® 105 © 105




11. o8 19o|A AD//PQ//BC°]1, AP:PB=2:1, AD = 6cm ,
PQ = 8cmo|t}. ojuf, BC o] Ao]&=?

_-6cm-~

@ 7cm @ 8cm 3)9cm @ 10cm ® 1lcm

BC2] Zol& x(cm) 2t otH
H AN A CEAS T, PQo AT
E:Ez%i&,ﬁ:ﬁzﬁ%:%o]

- —— 2
2:3:PR:x,PR:§x

= Rol=aL 5H
=

o R

CQ:CD=1:3,CQ:CD=RQ:AD°|E&
1'3—m:6,R_Q=2
PQ = —x+2—8

. BC =9(cm)




® 20 @)24 ® 26 @ 28 ® 30

ACOD 9] Yol xCOxmzéx6x8=24°]T4'.

N | =




13.

th-S 1394 mABCD ©2 oEFGH ¢ W, /E 9] 3719} CD 9] Zo]
5 747} totofet

- ’8 Cm\ ~

~-6cme

OABCD o oEFGH ©| 1, EeH| =
E-ﬁ—8-6—4~3olt}.

G2 T oA &5t Zto] 3|+ A2 fFoeug /E 9 2
71 W87 LA @ Zh wEbA E 9] 3714+ 360° - (90° +
90° 4 70) = 110°°]c}.

S=H[7F4:3 0]BR

CD:HG=4:3=CD:4o|t}.

3x CD = 16, C_D:§cm o]},




14. o 183 2L HAZHY ABCD &

vV V¥
0%
L

~&B

(EB'C = /B =90°
AAEB’ 02 ADB'C (AA B2)
AB = x gt 519

EB’ :B'C = AB : DC
10:30 =x:18

x = 6(cm)




15. t}3 IH)A AB//DE, DB//FE o|t}. CF : FD = 5 : 3 ¢ 0,
AB :DE & #5HH?

®5:3 ©@8:3 @8:5 @ 13:5 ©13:8

CF:FD=5:3°|E2FE:DB=5:8°|1
@:@:C_D:C_Azﬁ:ﬁ:5z8°]‘:}'.
w24 AB:DE=8:5




16.

o 197} 22 0ABCD oA ZF W] S-S A2 E, F, G, H e
53, AC = 10cm , BD = 8cm € W], oEFGH 2] g 9] Zo]&=?

@ 16cm @18(:111 ® 20cm @ 28cm ® 36cm

ﬁ:m:%ﬁ:%xszucm)
- — 1— 1

w2hA], oEFGH 9] =29 dol= (4% 2) + (5x 2) = 18 (cm)
olc}.




17. ©hg 13 2 HAAAY ABCD A /B o] o] 5240 AD %}
= S E, CD 9] 443 thih= A& Fatal ghch AB = 6em,
AD =8cm 4 ), x, y& 2| HZ ook

F
A8
, D
/
6
!
|
\ /o
(¢]
B>~-y---"C
> E: cm
> & cm
> &HE: x=2cm
[> HE y=8cm
AB//CF °©|2& /ABE = /BFC (31Z}) o]t}
I8 B2 474 BCF &= o|5¥AdZg ol
By g ol gl Zol Zonw BC o] Aol AD <
Zojo} 2t
..y = 8cm
41749 BCF £ °l5¥4Z 3|22 BC = CF
8=x+6

. X = 2cm




18. HaPAHEY ABCD 9] & ¥ BC, DC 9 &4 $1o] BC = CE,
DC =CF 7} H=5 &+ A E, F & &2 o, 0ABCDE A& A7}
Fol FPAAF o] B 2712 BI|o|A BE 2 A7

5 #yo] vjdie] 217} Basieh
5 #pe] el Pol7t 247t ek
dizte] 2717} 242 e

@ ® ©®© © O
n
oX
lo

14 @24 @34 @4  ©574

BAAPAGo] Hi 272 DABFC,DACED 7t BaAbd gl 5]
= 27 @7 oBFED7} BaAbdo] i 24 @2 27joltk.




AR (E

09‘:
—|-'

Apefel o)t}

= Apehel @) olet,
AP (E ATl Z) o],







